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And the master who forgave his deduction - WP HY Hrnw 29

Overview

X127 taught the since the 713 of the 72¥ 1s "1 to the master, therefore a master who
merely forgave the remaining money owed to him;' that debt is not forgiven.
mooIN connects these two concepts (MIp 19 and 71n MY PR) and attempts to
derive a ruling from this X773.
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However (we can derive from X27), if it were not "1p 123, the 9 n» would be
effective.
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One may infer from here that 77%°1% does not require a 1p.

mooIN rejects this inference:
7193 "9y 41’)? 9 1PN 192 PININ NINY 11927 MNTI W1 117919

Perhaps however, we can reject this inference, for since the 72V is in possession

of his body, there is no greater 1 than this. Therefore even though by an 72v there is
no need for (an additional) P3p, but by a debt there may be a need for a 1°1p in addition to the 7%°mn.

' The 72y was purchased for six hundred 11 (for instance) to work six years for his master (one hundred 17 per year).
After working two years (for instance) the 72y owes his master four more work years (or four hundred 117) — the
71573 X237 explains that since the master has a 7137 7°17 in the 72¥ (not only a debt owed to him by the 72v), therefore
n°nn (forgiving the debt) would not be effective. One can only be % something which he is owed, but not
something which he owns.
 The relationship of the 72v to the master (if we assume "11p 193 1X) would merely be a monetary obligation (he
owes him [four years of] work). Therefore the master can forgive this monetary obligation. Saying X¥ would be a
proper 2.
? This means that when a lender says that he forgives a borrower his debt, the debt is cancelled (even though no
formal 1ip [like 1°9°%1] was made to finalize the 717°nn). The m%n cannot retract this 72°1a. The inference that 79°nn
P ¥ 7R is from the fact the X271 stated the reason X¥ (or 72°m7) is insufficient is because *11p 193, but if "1p 101 PX,
then 79°1n (or RX) is effective. However if %17 7°7% 79°1n then even if »11p 191 the 72y should be freed without a oW,
since there was a 1Ip (which is effective [even] by an >1¥15 72v). Therefore we must conclude that the 77°m here is
without a 137 and it would be effective if "13p 191 "X (like a debt). See 11 7"7 X,2°p "2 '01N. [An alternate (simpler)
explanation is that since if would maintain that "3 1913 PR then X¥ (or 7%°1n) alone would be sufficient, this proves
that ap "X 72nn.]
* The servitude of the 72y to his master (even if we maintain "3p 197 PX) is that he will work for him physically with
his body [not that he owes him ‘money’], therefore as soon as the master is 7m (that the s'729 body need not work
for him), the 72v is 7P his body that it need not work for the master anymore. However by a loan, there is nothing
physical which the m> owes the 7%» (the money of the loan is long gone — 71n°1 IXYI? M), there is merely ‘an
obligation’ to pay back the loan; therefore even though the m>n was ?mn the debt, there is nothing tangible which
the M? acquires, and perhaps the 72°n» requires a 13p to validate it.
> See ‘Thinking it over’.
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Summary
There is no need for a 7737 if the NTR was 2 the ¥"V to make the 17w effective

(if we assume "1 1011 PX), because the 72¥ 1s 10132 p1MM; however by other debts
perhaps 77°nn requires a ip as well.

Thinking it over
mooIn writes that by an 72y, since he is 19132 prmn therefore M 7173 11 12 TR,

implying that even if 11p "% 7%°1m1, nevertheless there is no need for an additional
7P by 72¥ (if we assume M1p 191 1X), since there is already the I of 1132 prmn.
What therefore is s'27 answer that "1p 191 ¥"V; even if "1p 1913, nevertheless there
is a 11p (of 1912 prmn) that annuls the M7 13p of the master;’ it is not merely 77710,
but there is a 112 which allows the 72y to acquire himself from the mx?!g
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% See footnote # 5.
7 See footnote # 3 (from '01nin n"2).
¥ See (*o% mam 11"72) oW MK AN oY N2
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